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RGS1 efficiency in the routine phase: Revs 1001 to 2000

Scheduled Science : 113314 ks
Performed Science : 105096 ks

180000 = < = 180000
o) S o) 3 x
. G = 5 : s 2
e 1 [)) +— o 0 >
I(-})Jé S = o [0 g c = 32
160000 35 = = - © = L g S5 160000
= - z < s £ = a =g
< O < o 2 3” n <
> D o > o ) L 3 o=
n> = n 0 [a)] (O] I T =0
140000 | - - 140000
| f
. |
| 1l |||{ I|] | | |\ ‘l’
120000 . M . i A J - 120000
! ||—|_ iy Al
| IW" |'\ " "|" | \ \ (UL !
I
100000 - | B& f ‘ '” {14l 11 : | 11 100000
| ‘| |) | 1
80000 - - - 80000
| |
60000 - - 60000
40000 - - 40000
20000 - - 20000
e e T e T e T e L e Tl S i
& P P & S I @b”/%”/é"fﬂ/@&%"/d’“ﬂ' W oV P SV B (Vo g Y @ S gl sV b S AT AT DAY oSV Y o o SV S P Y S
AN RS A T SR o RS e o S AU S 2L S S S i G Sl S S e i S

REV #

Performed Science I Solar Fares [ G/S Problem I Inst Problem I Support other S/C I S/C Problem

Science Win




